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2N
X ZH -
L= B

el

=
—

HAH BHS

ol

[l

=X

Sciod T

FAE=X X

4 (M3 =X/

ol . & L_)

] - 4\
_l?_ XNZXH . Cl2 }%"Egg %Ei D:II-
09 & Al 14,160 12,720 1,440
OH =PIV
60,0002 %2224 %23 2,640
ogels ¥ =24
8,000 ¥360% *43| 11,520
1JIE2a3 600 600 0
OFAHE 25 D EAS 200,000 *3 600
HLrUHH2Y (S 29)<2 x> 337,302 298,520 38,782
b 151,786
= 33,730
Al 151,786
307 ©I2+0| & 337,302 298,520 38,782
b 151,786
= 33,730
Al 151,786
10 AF3I = XI Al 337,302 298,520 38,782
OE=IIH 337,302,0008 337,302
b 151,786
= 33,730
Al 151,786
HIZReD Ne<E > 57,000 25,000 32,000
< 22,000
Al 35,000
307 8I2t0| & 57,000 25,000 32,000
= 22,000
Al 35,000
10 AFSI = XI Al & & 57,000 25,000 32,000
Otz 7 57,000,000% 57,000
= 22,000
Al 35,000
=PSRRI 148,068 142,540 5,528
b 74,034
Al 74,034
307 8I2t0| & 148,068 142,540 5,528
b 74,034
Al 74,034
10 AFSI = XI Al & E 148,068 142,540 5,528
OF-PNER: 148,068, 0002 148,068
p 74,034
Al 74,034
=P 10,300 8,400 1,900
= 5,150
= 1,550
Al 3,600
307 ©I2+0| & 10,300 8,400 1,900
= 5,150




SM: FUSXD
M AW 25 2 SA(MISX/0 - HAW)

el mAE=X K (S &2)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
< 1,550
Al 3,600
11 ASI S XA E X 10,300 8,400 1,900
OFAEURMESZIZAE 23| 10,300, 000& 10,300
= 5,150
< 1,550
Al 3,600
StNEAMY & HHEESXIA<ER> 2,520 2,520 0
= 756
Al 1,764
308 XtXIEHH SOl A 2,520 2,520 0
= 756
Al 1,764
08 WKII20HstE = 2,520 2,520 0
Ogn=g0g & HHEs X 2,520,000 2,520
= 756
Al 1,764
SASHELENE L SshI<EDR> 119,154 117,000 2,154
| 83,408
Al 35,746
308 XXM S0 A 119,154 117,000 2,154
| 83,408
Al 35,746
10 SO 2 SOICHE B & X 2 E A HI 119,154 117,000 2,154
Ostelzo B4W U % stXd
119,154,000& 119,154
| 83,408
Al 35,746
FaE 2l s2Us XN 4,500 4,500 0
307 21201 A 4,500 4,500 0
11 AMISIAIEE XS 4,500 4,500 0
O&AdE ANl s72U3S 4,500,000& 4,500
Fad ZaAMHs X 4,500 4,500 0
307 glz2tol & 4,500 4,500 0
11T AISI S XA E = 4,500 4,500 0
O&FAY FZaH3 4,500,000& 4,500
FaE OtE AZ2Z20I03 N2 18,000 18,000 0
307 2I2t0l A 18,000 18,000 0
11 AISI S XA E X 18,000 18,000 0
O&FAE JIE H22Z20 Ual 18,000, 000& 18,000
ZeAl Ha4E USH 36,000 36,000 0
307 21201 A 36,000 36,000 0
11 AMSSIAIEE X 36,000 36,000 0




2N
X ZH -
L= B

el

A2d B35 2 4 (MaISX/0 - HaH)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OXEEA B4249 UH=H 36,000,000& 36,000
AU EH MK =E<E D> 13,440 12,320 1,120
< 2,688
Al 10,752
307 21201 A 13,440 12,320 1,120
< 2,688
Al 10,752
11T MISRASEX 13,440 12,320 1,120
OFAEEH SMA =& 13,440,000& 13,440
< 2,688
Al 10,752
ANZELESHAEAE (HAURS YT AEY )<KE 2> 3,179,152 300,000 2,879,152
Xl 2,450,000
Al 729,152
401 AIEHIZ 28I 3,179,152 300,000 2,879,152
Xl 2,450,000
Al 729,152
01 A& HI 3,075,000 300,000 2,775,000
O&FAY 232 & Ag  3,075,000,000& » 14 3,075,000
Xl 2,450,000
Al 625,000
02 2feldl 100,000 0 100,000
O34 H 23te & A=zl
60,000,000 » 14! 60,000
OFEad =235t & dJ|Zeltl
15,000, 000& 14! 15,000
OFEad =259 & AgZeltl
15,000, 000& 14! 15,000
OFAaY =235t & sdl&eltl
10,000, 000& * 14! 10,000
03 AIE S THHI 4,152 0 4,152
OFad 2352 & A8 AIE20Udl
3,075,000, 000% 0.27/100%50%< & 2> 4,152
HASEHLEFAEXAER> 84,856 0 84,856
= 42,428
= 12,728
Al 29,700
301 et d s 84,856 0 84,856
= 42,428
< 12,728
Al 29,700
01 MEIBZE 05z 84,856 0 84,856
Oodelty XA 84,856,000 84,856
= 42,428
< 12,728
Al 29,700




2N
X ZH -
L= B

el

FOI= X
Had €5 Y

HaE=x X

o= [

S M=/l - FHad)

iy

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
HAEIRE S K JA<E EX> 80,000 0 80,000
== 30,000
Al 50,000
308 XAHXIEHSOIA 80,000 0 80,000
o= 30,000
Al 50,000
10 B 2SUHUSHEAEAE AT Y| 80,000 0 80,000
OZ= 3449 HAEY M 80,000,000 80,000
& 30,000
Al 50,000
N 22 X222 NHE S 20,000 20,000 0
307 2iztol & 20,000 20,000 0
11T AISIEXAIEEX 20,000 20,000 0
OMUZ2Y EX23IZAHME 20,000,000 20,000
HAEULEALE 29 475,324 1,073,320 A 597,996
= 17,166
J| 145,754
= 40,030
Al 272,374
HAEE WS OPIIMI02E<E &> 151,532 150,238 1,294
J| 75,766
= 22,730
Al 53,036
308 MXISHHMSOIA 151,532 150,238 1,294
J| 75,766
& 22,730
Al 53,036
10 B 2SO USE AN EAIS Y| 151,532 150,238 1,294
OFAYE 85 o240l 29 A
151,532,000 151,532
J| 75,766
o= 22,730
Al 53,036
HAGXNCSAI X X (B AESEAE HAEXSE A 21,876 21,360 516
HH X X & )<8 x>
J| 10,938
Al 10,938
308 XHXIEHSOIA 21,876 21,360 516
J| 10,938
Al 10,938
10 212 SUHUSHEAXEAE AT Y| 21,876 21,360 516
OFAELEANE HAEX AN BRI X &
21,876,000 21,876
J| 10,938
Al 10,938
HAEHEWHINLY (EHARKS 29 )<EBX> 2,800 2,800 0




AN =S
Hu: AW 25 2 SSE(MHEX/0 - FAE)
Sl HAUSRAL 29 CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 1,400
Al 1,400
308 XX EHHSOIA 2,800 2,800 0
J| 1,400
Al 1,400
10 B/ 2SOHUHSZAEEALS I 2,800 2,800 0
O3AYE 0 24 2,800,000 2,800
J| 1,400
Al 1,400
Hiad FOHXNI(HAEANE 233 N )EE> 2,000 2,000 0
J| 1,000
< 300
Al 700
308 XtXIELHSOIA 2,000 2,000 0
J| 1,000
< 300
Al 700
10 SII 2 SOICHEHE & X 2 &AL HI 2,000 2,000 0
OFAHEANE 233 X& 2,000,000& 2,000
J| 1,000
< 300
Al 700
N3 EAYE AMEE ZZ20E 2E<EXR> 7,000 6,700 300
< 2,000
Al 5,000
308 AHXIEHHSOIA 7,000 6,700 300
< 2,000
Al 5,000
10 37/ 2S0HUHeB&EAEALS I 7,000 6,700 300
ON3 HAE MIHEES Z20Y 2H
7,000,000& 7,000
< 2,000
Al 5,000
NEASHBAHSEHANIMARS(RAE SR HA 92,300 90,100 2,200
IE)REE>
J| 46,150
Al 46,150
308 XXM SOIA 92,300 90,100 2,200
J| 46,150
Al 46,150
10 I 2 SOICHetE & X 2 E A I 92,300 90, 100 2,200
OFad SEXNEMATE XNE  92,300,000& 92,300
J| 46,150
Al 46,150
AU EENMEH X<E 2> 120,000 90,000 30,000
< 15,000
Al 105,000




SM: FUSXD
H(ANBIZX /=0 - HAW)

R RN “DNERCE JETREY®
Sl HAUSRAL 29 (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %E& HRE2
308 XHXIEHSO|A 120,000 90,000 30,000
== 15,000
Al 105,000
10 212 SUHUSHEAEAE AT Y| 120,000 90,000 30,000
OFad@Ad=2XHH A& 120,000,000 120,000
= 15,000
Al 105,000
HAUHSHOIE X R<E X> 24,066 28,000 N 3,934
= 9,666
Al 14,400
308 XHXIGHH SO0l & 24,066 28,000 N 3,934
= 9,666
Al 14,400
10 B 2SO USE AN EAIS Y 24,066 28,000 N 3,934
O3FA~E HHEdE oY X3 24,066,000 24,066
= 9,666
Al 14,400
HAESOI2I2E X <EX> 38,750 38,750 0
= 7,500
Al 31,250
308 AMXISHMSOIA 38,750 38,750 0
= 7,500
Al 31,250
10 B 2SUHUSHEAEAE AT Y| 38,750 38,750 0
O34 Sotel X 38,750,000 38,750
2 7,500
Al 31,250
HAEUEHE X |<E > 15,000 15,000 0
J| 10,500
Al 4,500
301 LBt A= 15,000 15,000 0
J| 10,500
Al 4,500
01 Al E & A 462 15,000 15,000 0
OFAHEEYEX AN 15,000,000 15,000
J| 10,500
Al 4,500
TEAl BAENG 29 2,103,000 20,000 2,083,000
ISHAl EAETHE X 2,103,000 20,000 2,083,000
306 52 2,103,000 20,000 2,083,000
01 s2 2,103,000 20,000 2,083,000
OFAENEH =2AHZ 2,103,000,000& 2,103,000
2222 & I (AMa=EX/BEE) 5,536,508 4,743,842 792,666
= 643,040
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SN Fo=NY
. 2ol & XN (AIEX/BE2)
ool 2E=X =X (el:de)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
Al 4,893,468
225X 54 5,536,508 4,743,842 792,666
& 643,040
Al 4,893,468
2213 1,515,595 1,510,222 5,373
101 @121l 46,325 37,692 8,633
04 JI2ZtH2E2XNEE S 46,325 37,692 8,633
OBs2d 4#AF =& 60, 240& x5H x4 3] 1,205
Ostgogn M&IIEB +2 U MEEY
60,2403 *3H x5 x4 3| 3,615
o422 JIA2R2E=2 ,820,000& *11.5% 555
OLSANSEE L FHAE 2922 15,250
-J|=3 60,2403 19 20 x9& 10,844
-F=54 60,240& x 12 38 2,290
-Hsa3EIIE 60,240 x 19 9 543
A28 JI2R2E23 13,677,000& *11.5% 1,573
OkoldXtelArg (ol xtel =) 25,700
-Jl2= 270,000& 109 9 & 24,300
-28 2 2EY 140,000& *10H 1,400
201 LEt29Y| 33,560 36,320 N 2,760
01 A2 2218l 12,920 12,680 240
O1.28t=2H| 11,000
-EEXA L3 3,600,000& 3,600
-2IR2AH(EE) 2HAMHE 30,0002 1004 3,000

_LISA| EEE MI|ONDTZ D

B ) S 2,000,000 2,000
~HEAEEE R0HY +42
200,0002! * 122 2,400
O5. 2t 1,920
~REXNY YRFT AAJA2L2X 34
8,000 x22§* 102 * 122 1,920
02 2222l 20,640 23,640 A 3,000
O1.Z2Q2LMA 8,640
~HEAl EEE 8,640
Sl 420,0002 * 128 5,040
= 300,0002 %122 3,600
O3. Al & ZHI KX b 12,000
~L BESP ASRAUY 2,000,0002 2,000
~HEANS X2 10,000,000 10,000
202 04l 2,160 2,160 0
01 201 bl 2,160 2,160 0
O2E 4% =Y 60,0002 2«3 +63| 2,160




AN =S
Fu: FEEAe € KNI (MI=EX/EE)
el BE=X =2 (sl &2)
A - HE B (3A) - HRAY - B Ol &t o San HmEET
301 gt L= 1,160,800 1,127,300 33,500
01 MI2ZE+5l= 1,125,000 1,095,000 30,000
ORI ALRAZ23 300,000 x150H 45,000
O=JIsEi 2EEdH =
0,000&*1,750H x12& 1,050,000
O=IIREA A2 300,000& x100H 30,000
09 SAAHIEA S 35,800 32,300 3,500
OEs9 & @At &I 06dHl 10,000 200 2,000
OWM=XIAt 8= H==tl 100,000& *50H 5,000
O=II2 3K AL X S0ot4 3,600
-l ==tl 2,000,000& 2,000
-EHARE g4 8,000& x200H 1,600
O2DX &t =4 oldl
60,000 *30 2 =4I CH Xl 7,200
O3N"3X s=22& 842 & AAMX =X
04 dl 60,0003 *40H =51 EH Xl 12,000
O6.258 =283 JIS#HA FAX 04|
60,000& x70H 4,200
O=J1gdAL & AKX Odl 60,000 *30H 1,800
307 21201 A 245,750 266,750 A 21,000
03 HAHMEES2LHIES 150,000 138,000 12,000
Od0IZE2AZSAN= ZEAXNE S
21,000,000& 21,000
OZ=3E=EXNRE ZeAlXla 29l
8,000,000& 8,000
OMESZERZIIZSXNR ZEAXE 29I
15,000, 000& 15,000
OESZZ0ILUsFE=EXNNE ZeAlXs 2]
15,000, 000& 15,000
ORE+EXMAB=AT ZAX2 23|
15,000, 000& 15,000
OULEMERIB=SARE ZSAX2 23U
17,500, 000& 17,500
O6.258 8 7SN B=2XNE EE AKX 2
17,000, 000& 17,000
OS+Y2RIBVHZ=NL THANE 2]
10,000, 000& 10,000
OCEYNEBAEXNIEENE ZTEAXSG 2l
11,500, 000& 11,500
OZSAEZOlS 23l 20,000,000& 20,000
11T M SXALSE EX 95,750 128,750 A 33,000
OlnGHIoi&Ea & BSEY MEA
3,000,000& 3,000
OotEns & AR =d 2,000,000& 2,000
OFEREH, =34 HEH A 3,000,000 3,000
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2N
X ZH -
L= B

el

el ¥ X&E

(A3 =X/28)

A FB B (B) - HRAY - BES il Bl RE2
01.3323% 17,800
-SeoEa 14,000
I3 800,000& »12& 9,600
aot=& 100,000& =122 1,200
dg & 200,000& »12& 2,400
EHEE 800,000& x13] 800
-Sct tael g2 2 stolohy &
== 3,800
I3 100,000& = 12& 1,200
o 50,000& x12& 600
St & 100,000& =122 1,200
EHEE 800,000& x13] 800
O3. A& EHI R X 2,680
S Eg2 A2 Sl
2,717&%903m’ 2,454
-2t A™el 3191 J18a HZ2x XYl
2, 7173 +83m’ 226
401 Al HI K 201 I 10,000 5,000 5,000
01 A& HI 10,000 5,000 5,000
Osech tAel 3.19H J1ga =IHKE 0lg Q!
P 5,000,000& =14 5,000
Ost&eo gz dsllga CCTVE Xl
5,000,000& =14 5,000
2RI & |IIHE |=E<E x> ,482,640 2,702,640 780,000
< 512,640
Al ,970,000
301 LAz ,482,640 2,702,640 780,000
< 512,640
Al ,970,000
01 At3I 2 & A 5] ,482,640 2,702,640 780,000
OF=FSESS=PN-! =
0,000& *3,550 x12& ,408,000
< 438,000
Al ,970,000
OFEEREX |t g 1=
0,000& «622H «128 74,640
< 74,640
RSN L FF2A=zH AJA<EE> 95,333 23,500 71,833
< 28,600
Al 66,733
301 et A=z 95,333 23,500 71,833
< 28,600
Al 66,733
01 At3I 2 & X 5] 95,333 23,500 71,833
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SN FUSKD
Fu: FEEAe € KNI (MI=EX/EE)
ool 222X S (B9 ®R)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
—Hl ==t 2,000,000& 2,000
-EAHH RE=24 2 S&  8,0002 350 2,800
Mol=32 & A} 3,800 2,700 1,100
201 Let249] 2,000 1,000 1,000
03 &AL S HI 2,000 1,000 1,000
OMai=32 & A 2,000,000& 2,000
301 et 8= 1,800 1,700 100
09 HALAHIEA S 1,800 1,700 100
OMoll=32 & At 1,800
—Ml==Hl 1,000,000& 1,000
-HEEH 5 24 ¥ S2 8,000 +100¥ 800
6.258t=& ™ DG AL K& 18,000 18,000 0
307 glz2+ol & 18,000 18,000 0
11T MISXASEX 18,000 18,000 0
O6.258t=8Z IS &H At 18,000, 000& 18,000
=29 & UctAIEE A S22 MB<E D> 6,000 6,000 0
= 1,800
Al 4,200
307 21201 A 6,000 6,000 0
< 1,800
Al 4,200
11T MISXASEEX 6,000 6,000 0
OuUectAtgd 4l &2 u= 6,000,000& 6,000
< 1,800
Al 4,200
SEoEr S22 Z TH<ED> 200,720 401,440 A 200,720
< 100,000
Al 100,720
401 A& HI K 201 I 200,720 401,440 A200,720
< 100,000
Al 100,720
01 A& HI 200,000 400,000 A 200,000
Otz gz 522359 2 &4
200,000,000 =14 200,000
< 100,000
Al 100,000
03 AIE 2 THHI 720 1,440 AT20
OSEE8Z S=325t2 2 =4 A&
200,000,000 *0.72/100%50%<& 2> 720
EE:3la HE 125,600 0 125,600
301 gEtE 4= 600 0 600
09 SALAHIEAS 600 0 600
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SN FUSKD
M. Z2oEE2el & XN (MsEX/2858)
ool 222X S (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OB&3 & HY =& 39 EAX =4
8,000& x15H *53] 600
401 AlEHIZL 2 0HY| 125,000 0 125,000
01 Al&H| 125,000 0 125,000
OB&3 & HE I & AAIE A
125,000,000 =14l 125,000
20| ZMEB ST (AISEX /I ZMES A 55,838,630 51,505,862 4,332,768
= 49,669,590
= 3,881,105
Al 2,287,935
MASHES Alglotd st = 55,838,630 51,505,862 4,332,768
= 49,669,590
o= 3,881,105
Al 2,287,935
NASEES Jx=dE B 243,480 268,480 A 25,000
201 et d| 3,800 3,800 0
01 AR 22l ] 3,800 3,800 0
O1.4 8t = H| 2,400
-M S A Qb4 2 H| 1,200,000 1,200
-ME ARG AOIOF HTLH A
30,000& 202 23| 1,200
03.2g89x4% 1,400
—MEPEHIAS YR BMLY
70,000 *10Y x23| 1,400
202 04| 1,080 1,080 0
01 2L I 1,080 1,080 0
OMEg A 2K H|
60,0003 »1H *3L *63| 1,080
301 LBt A= 238,600 263,600 A 25,000
01 Al E & A %52 238,600 263,600 A 25,000
OEFUAMOIIIE X 2sEIR2
5,300& *1,000AI CH=12& 63,600
OAHES nNEIH ALY 250,000 x700H 175,000
MNASFOUALEBEHSZYAI QAHESE S<HE X> 401,800 401,800 0
& 110,900
Al 290,900
301 et A= 401,800 401,800 0
&< 110,900
Al 290,900
01 Al E & A 462 401,800 401,800 0
ORASELAY o HIY 22
401,800,000 401,800
& 110,900
Al 290,900
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AN =S
M [0 FMBST(ASZX /I ZMEBE)
SHelr HASHE ASIOEYES CER-ED
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
MHSH<E > 53,508,200 49,444,531 4,063,669
= 48,157,380
< 3,745,574
Al 1,605,246
301 gtE L= 53,508,200 49,444,531 4,063,669
= 48,157,380
< 3,745,574
Al 1,605,246
01 M2I2EZE+06l= 53,508,200 49,444,531 4,063,669
O=FIN=MEEZ=SZ T HAHSO
53,508,200, 000& 53,508,200
= 48,157,380
S 3,745,574
Al 1,605,246
ME= = | 96,780 96,780 0
308 A EHHSOIA 96,780 96,780 0
08 WSEII20HetE = 96,780 96,780 0
ORI =MeEHd+Z A UK (MHA-ZH)
96,780,000 96,780
FEYI[SORNA/INEZOQNIz=2 X AR )<E 1,029,270 714,736 314,534
x>
= 1,029,270
301 et a = 1,029,270 714,736 314,534
= 1,029,270
01 MEI2ZE 05z 1,029,270 714,736 314,534
OJNE4SX ILYIFAN
1,029,270,000& 1,029,270
= 1,029,270
YRS/ (AR 2EAXH)KEE 202,500 223,490 A 20,990
>
= 162,000
< 12,150
Al 28,350
301 et A3z 202,500 223,490 220,990
= 162,000
< 12,150
Al 28,350
01 Ml28E 6= 202,500 223,490 A 20,990
Oxtarel 323X 202,500, 000& 202,500
= 162,000
< 12,150
Al 28,350
of A M= <2 2> 356,600 356,045 555
= 320,940
= 12,481
Al 23,179
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320,940
12,481
23,179
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SRS Et= DU RN ESPNE=10

356,600,000&

= M W

356,600

356,600
320,940
12,481
23,179

356,045

555

0

Al (F2

2 X ) (JIEHDIE

= W

536,984

171,148
51,344
314,492

498,818

38,166

= W

435,674
171,148

51,344
213,182

416,510

19, 164

EVE

H0

Sl

93,378

82,946
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I
0
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Eb M o0R E
2 40 nEoom
[P Vo

02 00
4
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1,184,110 «3F 128
1,184, 110& «3H *450%
1,184,110 «3F x50%*23]
60,0003 *3H x12&
46,6703 x3F x 128
59,3003 x3H x20Z
130,000& »3& 122
70,0003 x3H « 12
1,184, 1103 *3H «120%
1,184,110 3 x10%*12&
224,5903 x3H x 12

T S N
I S S
g £ = oy

oo

93,378
93,378
42,628
15,986
3,553
2,160
1,681
3,558
4,680
2,520
4,263
4,263
8,086

82,946

10,432
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re
Ju
M0
02
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W
il

Abeil 22l Ab)<8 &>

= W

342,296
171,148

51,344
119,804

333,564
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= W

342,296
171,148

51,344
119,804

333,564

8,732
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342,296
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2N
X ZH -
L= B

el

02 09 X
08 &
=
P
o
J

X H) (O1EH/ D1 EF)

ro o2
1% 0% re
M Ao Jit

=5

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
= 51,344
Al 119,804
Jl =23t 101,310 82,308 19,002
SFAS3HI 8,850 8,808 42
201 LEr2 Y| 8,850 8,808 42
01 At 22l Yl 8,650 8,608 42
OFRANEY dEtx=2H| 3,970,000& 3,970
ONME2g 2| 1,512,000& 1,512
OZ2AI &Rt 132,000& 2CH x12& 3,168
02 3524t 200 200 0
ORNE2E 5323 200,000& 200
AR =X b 83,160 66,000 17,160
202 04| 83,160 66,000 17,160
01 2LHOHI 83, 160 66,000 17,160
OFQAPFXAY 20,0003 #22H 15U x12& 79,200
ONMSHY 2R X0 b 20,0003 *22H x3! 3 & 3,960
AR =&Y 7,500 7,500 0
203 R =&Y 7,500 7,500 0
01 J|2A2HLR=XH| 3,300 3,300 0
OJA2HIL2 =X (=) 3,300,000 3,300
04 2SI L RF=AH| 4,200 4,200 0
OBNMSHEIA2 =X (HL:21)
350,000& x12& 4,200
AL EEFHSHI 1,800 0 1,800
405 XtabF SHI 1,800 0 1,800
01 AL 2B F SHI 1,800 0 1,800
Ogdul A 500, 0003 = 1CH 500
Ooddn 600, 000& = 1CH 600
O M MIEDI 700,000& = 1CH 700
HEES(FU=EX) (AL EX /I =ME S EH 5,134,136 4,774,342 359,794
WEHN K= 5,134,136 4,774,342 359,794
JESIH ME2 4,869,986 4,510,192 359,794
701 JIEIS HSHEZ2 4,869,986 4,510,192 359,794
01 JIEtSI HE &= 4,869,986 4,510,192 359,794
OC=sZ2HEEINH MEZS 4,869,986,000& 4,869,986
SIENES 264,150 264,150 0
701 JIEIS HSHES 264,150 264,150 0
02 BIIHELEIHINTE2 264,150 264,150 0
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